

$\delta_1 \dots \delta_R$   
 $x_{\delta_1}, x_{\delta_2} \dots \dots$

$c_1 x_{\delta_1} + c_2 x_{\delta_2} = 0$

$X \sim Y$

$X' \sim Y'$

$\delta_1 \dots \delta_R$

$X' \begin{pmatrix} c_1 \\ \vdots \\ c_2 \end{pmatrix} = 0$

$\begin{pmatrix} 1 & \dots & 0 \\ \vdots & \ddots & \vdots \\ 0 & \dots & 1 \\ \hline 0 & \dots & 0 \end{pmatrix} \begin{pmatrix} c_1 \\ \vdots \\ c_2 \end{pmatrix} = 0$

$c_1 = c_2 = \dots = c_2 = 0$

$x_j \in \mathbb{R} \rightarrow x_1, \dots, x_n$

$x_j = \sum_{i=1}^n c_i x_{ji}, \quad \ell \quad i_\ell > j > i_{\ell+1}$



$\dots i_\ell$   $x_j$

$$z_j = \begin{pmatrix} c_1 \\ \vdots \\ c_\ell \\ 0 \end{pmatrix} = c_1 \begin{pmatrix} 1 \\ 0 \\ 0 \end{pmatrix} + \dots + c_\ell \begin{pmatrix} 0 \\ 0 \\ 1 \end{pmatrix}$$

$$\underbrace{[x_{i1} \dots x_{in}]} = \underbrace{[x_{ij} \dots x_{ie}]}$$

$$\Leftrightarrow$$

$$x_{ij} \in [x_{i1} \dots x_{ie}]$$

$$\underbrace{[x_{i1} \dots x_{in}]} \supseteq \underbrace{[x_{ij} \dots x_{ie}]}$$

$$\underbrace{[x_{ij} \dots x_{ie}]} =$$

$$\begin{pmatrix} 1 & 1 & 3 & 1 & 1 \\ 2 & 0 & 2 & 2 & 3 \\ 3 & 0 & 2 & 2 & 2 \\ 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 \end{pmatrix} \xrightarrow{2} \begin{pmatrix} 1 & 1 & 3 & 1 & 1 \\ 0 & 0 & -1 & 1 & 1 \\ 0 & -2 & -1 & 1 & -1 \\ 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 \end{pmatrix}$$

$$\begin{pmatrix} 1 & 1 & 3 \\ 0 & 2 & 1 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \xrightarrow{2} \begin{pmatrix} 1 & 1 & 3 \\ 0 & 1 & 1 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}$$

$$x_3 = 1 \cdot x_1 + 2x_2$$

$$x_1, x_2, x_4$$

je a L N

$$x_3, x_5 \in \underline{\underline{[x_1, x_2, x_4]}}$$

SPOREM

$$\begin{array}{c} \mathbb{Z} \\ \mathbb{Z} \\ \mathbb{Z} \end{array} \begin{array}{c} \mathbb{Z} \\ \mathbb{Z} \\ \mathbb{Z} \end{array}$$


---


$$\begin{array}{c} \mathbb{Z} \\ \mathbb{Z} \\ \mathbb{Z} \end{array} \begin{array}{c} \mathbb{Z} \\ \mathbb{Z} \\ \mathbb{Z} \end{array}$$


---


$$\begin{array}{c} \mathbb{Z} \\ \mathbb{Z} \\ \mathbb{Z} \end{array} \begin{array}{c} \mathbb{Z} \\ \mathbb{Z} \\ \mathbb{Z} \end{array}$$


---

$$\begin{array}{c} \mathbb{Z} \\ \mathbb{Z} \\ \mathbb{Z} \end{array} \begin{array}{c} \mathbb{Z} \\ \mathbb{Z} \\ \mathbb{Z} \end{array}$$


---


$$\begin{array}{c} \mathbb{Z} \\ \mathbb{Z} \\ \mathbb{Z} \end{array} \begin{array}{c} \mathbb{Z} \\ \mathbb{Z} \\ \mathbb{Z} \end{array}$$


---

$$(i) \Rightarrow (ii) \quad [X] = \mathbb{R}$$

$$x_1, \dots, x_m, \dots$$

$$x_j \in [X] \quad |X| = m$$

$$x_{m+1}, \dots, x_n \in [X]$$

$$m+1 \leq n$$

SPOR

$$(ii) \Rightarrow (i)$$

$\Gamma \Downarrow$  make up names  $x$   $m$

$x_1 \uparrow \Downarrow \quad [x_1] \quad \uparrow \Downarrow$

$x_2 \uparrow \Downarrow \quad [x_2]$

$[x_1, x_2] \quad \uparrow \Downarrow$

$x_3 \uparrow \Downarrow \quad [x_1, x_2]$

$\vdots$   
 $x_n \uparrow \Downarrow \quad [x_1, \dots, x_{n-1}]$

$\{x_1, \dots, x_{n-1}\} \quad \underline{\underline{LU}}$

$$u_1, \dots, u_{k-1}, u_k \quad V = [v_1, \dots, v_m]$$

$$\Rightarrow u_{k+1}, \dots, u_m$$

$$(u_1, \dots, u_m) \text{ ort.}$$

$$[u_1, \dots, u_{k-1}, \cancel{u_k}, \dots, \cancel{u_m}] = V$$

$$[u_1, \dots, u_{k-1}, v_{i_1}, \dots, v_{i_r}] = V$$

o.k.

LX



$$b) \quad \underline{\underline{[N_1, N_3] = \mathbb{1}}}$$

$$[v_{i_1} \dots v_{i_e}] = \mathbb{1}$$

$$g) V = [v_1 \dots v_m] =$$

$$= \begin{bmatrix} v_{i_1} & \dots & v_{i_2} \\ \vdots & & \vdots \\ \vdots & & \vdots \end{bmatrix}$$

h) STIBNIT 2

$$\underbrace{v_1, \dots, v_m}_{\text{baza}} \quad v_1, \dots, v_m$$

$$L \Rightarrow [v_1 \dots v_m] = V$$

$$m \leq m \leq m \quad m = m$$

$u_1, \dots, u_m$  báze

$$x \in \mathbb{R}^n = [u_1, \dots, u_m]$$

$$x = \sum_{i=1}^m c_i u_i = \sum_{i=1}^m d_i u_i$$

---

$$0 = \sum_{i=1}^m (c_i - d_i) u_i$$

$0 = 0$

$$Y = \underline{\underline{[u_1, \dots, u_m]}}$$

$$0 = \sum_1 u_1 + \dots + \sum_m u_m$$
$$0 = 1 \cdot u_1 + \dots + 0 \cdot u_m$$

$$\underline{(x)_2 = (y)_2} \Rightarrow x = y$$

$$x = y \cdot (x)_2 = y (y)_2 = y$$

$$\forall p \in \mathbb{K}^3 \exists x (x)_2 = p$$

$$y p = x$$

$$(x)_2 = p$$

$$2. (ax + by)_2 = ax + by$$

$$2 (a(x)_2 + b(y)_2) = a \underline{(x)_2} + b \underline{(y)_2}$$

$S, T \subseteq \mathbb{R}^n$

$$\dim(S+T) = \dim(S) + \dim(T) - \dim(S \cap T)$$

$S \cap T \subseteq \mathbb{R}^n$

$v_1, \dots, v_r$  báze  $S \cap T$



$v_1, \dots, v_r, v_{r+1}, \dots, v_m$

$v_{r+1}, \dots, v_m$

$S$

$v_1, \dots, v_r, v_{r+1}, \dots, v_m$

$v_{r+1}, \dots, v_m$

$T$

$v_1, \dots, v_r, v_{r+1}, \dots, v_m, v_{r+1}, \dots, v_m$

$S \cup T$

$2 \cdot L$

$$\begin{aligned}
 & c_1 y_1 + c_2 y_2 + c_{k+1} y_{k+1} + \dots + c_n y_n \\
 & + d_{k+1} v_{k+1} + \dots + d_m v_m = 0
 \end{aligned}$$

$\sum_{i=1}^n c_i y_i = - \sum_{j=k+1}^m d_j v_j = 0$

$\sum_{i=1}^n c_i y_i + \sum_{j=k+1}^m d_j v_j = 0$

